For all images t0 = when IFO gets to injecting 60W

H1:ETMX trer = 1358298374
t= 1358298394, dtrer= 20s,dPro=0.01 W, dZPfxels =97.43 %

HL:ETMX tr = 1358298374
t = 1358298415, dtrer= 415, dPiro=0.01 W, dZPfxefs =97.64 %

-10
-10
E £
= -15 2
~158 g
8
—_ [}
g -205
a &
—20°
-25
-25
-30
30
-10 -5 0 5 10
-10 -5 0 5 10 Magnified units [cm]
Magnified units [cm]
t=+20s t = +40s
HLETMX trer = 1358298374 H1:ETMX ter = 1358298374
t = 1358298435, dtrer= 615,dPiro=0.02 W, dZPfxefs =99.32% t = 1358298498, dter= 124s, dPjro = 0.01 W,dZPfers —9923 9%
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Camilla Compton


H1:ETMX tref = 1358298374 H1:ETMX trer = 1358298374
t = 1358298619, dtrer= 2455, dPiro = 0.02 W, d3 Pixels = 99.35 9| t = 1358298983, dtrer= 609s, dPiro =-0.0 W, d) Pixels = 99.9]
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HL:ETMX trer = 1358298374 H1:ETMX trer = 1358298374
t = 1358299571, dtrer= 11975, dPiro = -0.0 W, dD Pixels = 100] t = 1358300179, dtier= 1805s, dPjro = 0.08 W, d3 Pixels = 97.7
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